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i LREOBHOBEENDRES IREOEEBSENDRES LREOBHOBSENDAES IREDERBELNDAES
&5 E 4 =S | FimhoDRaH ADKES K 4 TimALDKE [ B NDRES K 4 = | LSS NDKES B 4 tEmhosDLE | B ADKREE
(m) (m) (kN/ ) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
7 100kN/M%#8Z 5 3 AR T — |3mEBRB| — ~ — — — | 100kN/mM#%E#2Z5 — TR > — | 3mZEi#BA S A o = e
Zhrst 1.00 000 ~ 649 81.78 | =hL4st 000 ~ 649 1.75 9.35 Th st 1.00 | 6.00 ~ 7.70 81.78 | =hst | 5.00 ~ 7.70| 1.75 9.35
2 100kN/ Mm% % % = SR = —|3mZEBZD| — ~ — = — | 100kN/m%E#B 2% = - ~ = — | 3mEBAD - ~ — =2 =
zhLst 1.00 | 000 ~ 6.04 75.65 | Thust | 000 ~ 604| 1.86 9.95 FhLst 1.00 | 5.00 ~ 7.10 75.65 | RS | .00 ~ 710| 1.86 9.95
5 | ookn/mizEZ 5 - -~ - —|3mz@Ez2| — ~ —| - — | 100kN/ mi%#82 % - -~ - —|amz8z3 - ~ —| -— —
ThLs 1.00 | 000 ~ 6.09 76.38 | RS | 000 ~ 609 1.78 951 Ths 1.00 | 6.00 ~ 7.00 76.38 | LS | 500 ~ 7.00| 1.78 951
4 100kN/ M%E#BZ 5 o - ~ — — | 3mE#EZ 3 — e = — | 100kN/m%#BA 5% =2 e = — |3mZEiBAS e o = S
zhst 1.00 000 ~ 596 74.65 | TR | 000 ~ 596 | 1.84 9.83 Fh st 1.00 | 5.00 ~ 6.90 74.65 | RS | .00 ~ 690 )| 1.84 9.83
5 100kN/ m#%E#8 7% % o el e o — |3mEBAB| — ~ — — — | 100kN/m%#BZ % e G == — | 3m%EHBZAD e o S ==
Zhrst 1.00 | 000 ~ 5.60 69.92 | #hbLst | 000 ~ 560 1.92 10.25 Th st 1.00 | 6.00 ~ 6.60 69.92 | TS | 500 ~ 6.60| 1.92 10.25
G 100kN/ Mm% Z 5 o T e —|3mZEBZB| — ~ — . — | 100kN/m%E#% % — i . — | 3m%Ei#BA D ey = — o=
Zhus 1.00 )| 000 ~ 580 7256 | LS | 000 ~ 580 1.74 9.31 Th st 1.00 | 6.00 ~ 6.50 72.56 | ThUS | 5,00 ~ 650 1.74 931
100kN/ Mm% % % ~ 3ImEBAD ~ 100kN/ mM%E#B % % ~ 3mEBAD =
Zhsn ~ zhist ~ Thist ~ Zhs ~
100kN/ M&E#B A% ~ ImEBZD < 100kN/M%#BZ % ~ ImEFBZD =
Zhust ~ Zhis ~ Zhst ~ Zh st ~
100kN/ m%#8 7% % ~ 3mEHEZD ~ 100kN/mM%E#BZ % ~ 3mEHEBAD =
Thist ~ zhst ~ zhst ~ zhust ~
100kN/m%E#B % % ~ ImEHBZD ~ 100kN/ M%E#Z 5 ~ ImEBZLD ~
Thist ~ Zhsn ~ Thist ~ ZhLlst ~
100kN/m%#8% % ~ ImEBZD ~ 100kN/m%i#8 %% ~ 3mEBAD ~
Thist ~ ThLst ~ Thist ~ Thist ~
100kN/mM%E#BZ % ~ ImFEHBZS ~ 100kN/m%#8 2z % ~ 3mEBZD ~
Thist ~ zhst ~ zhst ~ Zhs ~
100kN/M%#BZ % =~ 3ImEEZD ~ 100kN/mM%#BZ % ~ ImEBRD ~
This ~ Thist ~ Thist ~ ZThilst ~
100kN/ Mm% 25 ~ 3mEEZD 2 100kN/ m##8 2.5 ~ 3mEEZD ~
Zhilst ~ zhst ~ zhust ~ Thst ~
100kN/mM%E#E A5 ~ 3mEBZD ~ 100kN/ mM%E#BZ % ~ ImEHBZD =
This = Zh st ~ Zzh st = zh st ~




